
	REVISION QUESTIONS
1. Find the length of the missing sides in the diagrams below.
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Use Pythagoras’ theorem to check to see if the triangles are right triangles or not.
All the decimals have been rounded to 1dp. The triangles are not to scale.
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1) Aladder is placed Sft away from a house. The ladder comes up to 12t on the
side of the house. How long i the ladder?
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2) Tyger has a rectangular garden measuring 12m by 20m that he wants to split
diagonally from corner to corner using a fence. How long does his fence need
t0 be? Give your answer to 1dp.
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1) Ashed with a pent roof need to have some new roof beams fitted. The width
of the shed is 5m and the height of the pent roof is 1.3m. Work out the
length of the roof beams needed to 1dp.
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2) Captain s on a geo-cache hunt. His gps tells him that he is 40m away from
the treasure. He walks 24m due west. The gps compass now tells him that
the treasure is due south from where he s standing. How far south does he.
need togotofind it?
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3) An anchor line for a tower needs to be replaced. The tower is 96ft tal. The
anchor line s 105t long. How far from the tower can it be placed, to the
nearest foot?

ot





image1.gif
13




image2.png
18

15




image3.png
18cm




